RE 3030 Assessment Criteria for interpretation 


Criteria for Setting Levels
	Level
	WRI

(Word Recognition 

in Isolation)
	**WRC/Accuracy

(Word Recognition 

in Context)

2-1 and above
	Fluency
	Reading Comprehension
	Listening Comprehension
	Spelling

	
	
	
	Pros-ody
	WPM

Words Per Minute
	
	
	

	Independent
	**90-100%
	    98-100%
	3
	above range
	90-100%
	90-100%
	90-100%

	Instruction
	**65-89%
	     95-97%
	2
	within range
	70-89%
	70-89%
	50-89%

	Gray Area
	**50-64%
	     90-94%*
	
	
	50-69%
	50-69%
	40-49%

	Frustration
	**Below 50%
	Below 90%
	1
	below range
	Below 50%
	Below 50%
	Below 40%


* 90-94% WRC is a normally acceptable instruction level score through 12

** The untimed WRI scores may also be considered at the preprimer (PP) and primer (P) levels.

Reading rate ranges (grades 1 through 8) – WPM

Start timing student’s reading at the 1-2 level.
	Grade Level 

of Passage
	Oral WPM

Beginning of Year
	Oral WPM

End of year

	First 
	(NA for PP1,2,&3,P)
	(12)  45 – 85

	Second
	     (21) 60 – 85
	(22) 80 – 120 

	Third
	     (31) 80 – 120 
	(32) 95 – 135 

	Fourth
	 95 – 135 
	110 – 150 

	Fifth
	110 – 150 
	125 – 155 

	Sixth
	125 – 155 
	135 – 160 

	Seventh
	135 – 160 
	145 – 160  

	Eighth
	145 – 160  
	145 – 160 


     Prosody

  3  Very fluent

  2  Fluent enough for that level

  1  Disfluent
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and discussion with Darrell Morris

Basal Levels


Emergent�
Kindergarten�
�
Preprimer 1, 2, 3 


or A, B, C �
first half of 1st grade�
�
Primer (1.1)�
middle of 1st grade�
�
1-2 �
end of 1st grade�
�
2-1�
first half of 2nd grade�
�
2-2�
second half of 2nd grade�
�
3-1�
first half of 3rd grade�
�
3-2�
second half of 3rd grade�
�
4th and up�
WPM is the determiner as to whether the student is beginning or end-of-grade reader rather than the difficulty of the material�
�






# of words correct             =    WRC


# of words in passage





                                       or








Error Quotient =               100            _


                             # of words in passage





100 – (EQ x # of errors) = WRC











60 x (# of words)     =    WPM


   # of seconds








